3GPP TSG RAN WG1 #112bis-e			R1- 2303165
e-Meeting, April 17th – April 26th, 2023
[bookmark: Source]Agenda item:	5
Source: 	Spreadtrum Communications
[bookmark: OLE_LINK45][bookmark: OLE_LINK8][bookmark: OLE_LINK46][bookmark: OLE_LINK3]Title: 	Discussion of RAN4 LS on Rel-18 Multi-carrier enhancement for NR
[bookmark: DocumentFor]Document for:	Discussion and decision
Introduction
RAN1 received a LS from RAN WG4 with a question regarding the two Tx chains are switched concurrently between two different band pairs and with overlapping switching period for UL Tx switching in Rel-18. The question from RAN4 is the following:
	In addition, RAN4 would like to ask RAN1 one question: 
From RAN1 perspective, is it possible that the two Tx chains are switched concurrently between two different band pairs and with overlapping switching period? Two examples are given below:
· Example #1: In the case of 3-band Tx switching, the switching is performed from 1T+1T on band A and B to 2T on band C.
· Example #2: In the case of 4-band Tx switching, the switching is performed from 1T+1T on band A and B to 1T+1T on band C and D.



[bookmark: OLE_LINK33][bookmark: OLE_LINK34]Discussion
For the supportive of 3 or 4 bands UL Tx switching in Rel-18, the following new conditions were agreed. The cases listed below are according to the question in the LS.
	Agreement
Following new conditions are applicable to dual UL only (i.e., not applicable to switched UL)
· When the UE is to transmit a 1-port or 2-port transmission on one uplink carrier on one band (1st band) and if Tx chain state at the preceding uplink transmission is 1T + 1T each on a carrier on other different bands (2nd and 3rd band) 
· When the UE is to transmit a 1-port + 1-port transmission each on one uplink carrier on different bands (1st and 2nd band) and if Tx chain state at the preceding uplink transmission is 2T on a carrier on another band (3rd band) 
· When the UE is to transmit a 1-port + 1-port transmission each on one uplink carrier on different bands (1st and 2nd band) and if Tx chain state at the preceding uplink transmission is 1T + 1T each on a carrier on one of the bands and another different band (1st or 2nd band, and 3rd band)
· When the UE is to transmit a 1-port + 1-port transmission each on one uplink carrier on different bands (1st and 2nd band) and if Tx chain state at the preceding uplink transmission is 1T + 1T each on a carrier on other different bands (3rd and 4th band)



So, it is possible that the two Tx chains are switched concurrently between two different band pairs and with overlapping switching period, the two examples are both possible and valid.
•	Example #1: In the case of 3-band Tx switching, the switching is performed from 1T+1T on band A and B to 2T on band C.
•	Example #2: In the case of 4-band Tx switching, the switching is performed from 1T+1T on band A and B to 1T+1T on band C and D.
So RAN1 would have the reply LS and answer the question as:
RAN1 Reply: it is possible that the two Tx chains are switched concurrently between two different band pairs and with overlapping switching period.
Conclusion
In this contribution, we discuss and present our views on issues in the RAN4 LS on Rel-18 Multi-carrier enhancement for NR:
Proposal 1. [bookmark: _GoBack]RAN1 replies to RAN4 that it is possible that the two Tx chains are switched concurrently between two different band pairs and with overlapping switching period.
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